R S AL IR E

FERE SRS (B Y244 A 10 £ FErk 2543 A 31 H)

CHAZ: T T 1)

HRIEAR
GARE B AT R kRS IS B o= BREEARGE
%2444 A1 A FEE 37,519 204,142 222,848 A 1,597 462,913
A D ZS B AR
Fl 4 DHLY A 7,954 A 7,954
4 BRI A 15,124 15,124
LS R PH O A ) —
H Ok O B A9 A9
H R DLy Al A 4 58 52
T,
%ﬁ%g%g&%ﬁ A 301 A 301
BRIEEA LIS D
THH D Y 2B
(ftiZe)
B DEEFAEFT — Al 6,865 48 6,912
SERK254E3 H 31 H 7% & 37,519 204,140 229,713 A 1,548 469,825
GV )
Z DD ELFEF 4% B FHEH
wieme | DU WEEVE | matam At
PRR244E4 A 1 B FEE 1,183 A 228 A 30,199 A 29,243 682 635 434,987
W 1 0> 25 B 4H
T4 A D 4 A 7,954
EEp:lip L RIEA 15,124
L P 0D 28 ) —
H O RO Bt A9
H Ok Sy 52
U
ﬁ%gﬁ%gﬁ@mu A 301
REBALIS D
IE H Y D4 B 2,162 230 21,930 24,323 82 111 24,517
(ftigeE)
M OZEEN A T 2,162 230 21,930 24,323 82 111 31,429
WRk254R3 H 31 H 7% A 3,345 2 A 8,268 A 4,920 764 747 466,416




WOHAESEHMEE (B PR 25FE4H 1 H B ERE264E3 A 31 H)

(BN : 57 )
REEA
BARL BTG4 F 2T A2 4 E= 7. BREEAREGF
SRR 254E4 A 1 H B 37,519 204,140 229,713 A 1,548 469,825
MDA EYEE
A4 DL Y A 9,280 A 9,280
S v IS 21,861 21,861
JHEL ks AR PH 0> 25 i 176 176
H ok Bt A\ 15,806 A\ 15,806
H ek L5y A 11 32 20
TEA T2t 1B o
e HE B AL ERER
BREEA LIS D
TH H X4 B > 28 Eh %R
(%R
UBHA DO AR S 7T - — 12,746 A\ 15,774 A 3,028
SER%264E3 A 31 A 7= 37,519 204,140 242,460 A 17,322 466,797
(Epr: = A H)
OO ELFEF2E B FH4E
A DR | MG ES
Z DAt 4B 7 Lo S St E’Hﬁ?ﬁu'fﬂ‘ D> %{THQ el =
Py /%ﬁnf‘\‘/ & fﬁ%ﬁ?ﬁ@% Lé)ﬁ]% EFEFIZE THINE oy it
g | DU | BRERE ey | skt
SERk254FE4 A1 H RS 3,345 2l A 8,268 —| A 4,920 764 747 466,416
2 W D2 HhEH
Fll A4 DREC Y A 9,280
1 H R 2% 21,861
EHALFLPHOZE HY 176
SRR S=wYirEss A\ 15,806
H ko sy 20
TES 124D 1BTR -
A& TS WL R AR
KR EgA LIS D
I H 24 Wl oo ZE B4 1,741 A 40 23,324 A 8,497 16,527 145 A 6 16,666
(HtiE)
VO EEVEEE R 1,741 A\ 40 23,324 A 8,497 16,527 145 A6 13,638
SERk264E3 H 31 H s 5,086 A 38 15,055] A 8,497 11,607 910 740 480,055




